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QUESTION 1

Which three does NetApp support for iSCSI with Microsoft Windows solutions? (Choose three.) 

A. VLANs 

B. Jumbo frames 

C. NIC teaming 

D. Microsoft MCS 

E. NIC trunking 

Correct Answer: ABD 

 

 

QUESTION 2

What should you do to test NetApp storage controller failover in a high availability FC environment? 

A. shut down the FC switch in the fabric that the storage controller is attached to 

B. shut down FC ports on the FC switch that the storage controller is attached to 

C. pull FC cables connecting the storage controller to the FC switch 

D. issue the takeover command on either storage controller 

Correct Answer: D 

 

 

QUESTION 3

Which three tasks should be completed as part of the site preparation for install? (Choose three.) 

A. plan zoning configuration 

B. verify equipment move path 

C. determine aggregate layout 

D. verify power drops in the equipment location 

E. make contact with data center personnel 

Correct Answer: BDE 

 

Latest NS0-502 Dumps | NS0-502 PDF Dumps | NS0-502 Study Guide                                2 / 8

https://www.passapply.com/ns0-502.html
https://www.passapply.com/ns0-502.html
https://www.passapply.com/ns0-502.html


https://www.passapply.com/ns0-502.html
2024 Latest passapply NS0-502 PDF and VCE dumps Download

 

QUESTION 4

Which of these attributes can affect LUN I/) alignment? 

A. The same LUN is present in two igroups with differing ALUA states. 

B. The starting offset of the first file system block on the host. 

C. The LUN is a boot LUN. 

D. The LUN is part of a logical volume. 

Correct Answer: B 

 

QUESTION 5

Which type of zoning does NetApp recommend? 

A. World Wide Name zoning 

B. World Wide Port Name zoning 

C. World Wide Node Name zoning 

D. Switch World Wide Name zoning 

Correct Answer: B 

 

QUESTION 6

Click the Exhibit button. 
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In the diagram shown, how should the zoning configuration be changed to better comply with NetApp best practices? 

A. four zones, each with one initiator, first two with the first target port and the second two with the second target port 

B. two zones, each with two initiators and one target port 

C. two zones, each with all four initiators and one target port 

D. four zones, each with one initiator and both target ports 

Correct Answer: D 

 

 

QUESTION 7

You have a Windows 2003 host using the NetApp ONTAP DSM MPIO environment with a FAS6000 high availability
configuration running single image cfmode.When you disconnect a cable from the FC switch to a storage target port,
how will the I/O fail over? 

A. I/O will fail over to any port on the original controller but NOT on the partner controller that is part of the associated
portset. Choice of path will be controlled by the host\\'s MPIO weighting table. 

B. I/O will fail over to any port on either controller that is part of the associated portset. Choice of path will be controlled
by the host\\'s MPIO weighting table. 

C. I/O will fail over to any port on the original controller that is part of the associated portset. Choice of path will be
controlled by NetApp storage system igroup settings. 
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D. I/O will fail over to any port on either controller that is part of the associated portset. Choice of path will be controlled
by NetApp storage system igroup settings. 

Correct Answer: B 

 

 

QUESTION 8

A customer has a four-node SUN cluster configuration. Each node has two, dual- ported HBAs. What is the minimum
number of igroups that need to be created to map a LUN to the cluster? 

A. 1 

B. 2 

C. 4 

D. 8 

Correct Answer: A 

 

 

QUESTION 9

Which command will display which Brocade switches are connected into a fabric? 

A. fabricshow 

B. switchshow 

C. show fabric 

D. configshow 

Correct Answer: A 

 

QUESTION 10

When running diagnostic tests after an initial installation of a NetApp FAS3000 storage system, which command is used
to run a comprehensive set of diagnostic tests on the entire system? 

A. all 

B. comprehensive 

C. full 

D. stress 
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Correct Answer: A 

 

QUESTION 11

Any newly installed system with Data ONTAP 7.3.1 supports which cfmode? 

A. dual_fabric only 

B. single_image 

C. partner 

D. mixed 

Correct Answer: B 

 

QUESTION 12

Click the Exhibit button. 
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In the cabinet diagram shown, what additional information should be included to make it more complete? 

A. switch connectivity 

B. storage port connectivity 

C. storage shelf connectivity 

D. storage controller rack placement 

Correct Answer: C 

 

 

QUESTION 13

You are installing a NetApp FAS6040 high availability storage system. 

Which cfmode should be set to ensure proper failover in an HP-UX environment? 

A. standby 

B. partner 

C. single system image 
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D. dual_fabric 

Correct Answer: C 

 

 

QUESTION 14

When booting your NetApp storage system for the first time the system fails to boot. 

What should you do first to address this problem? 

A. You turn off your storage system and disk shelves, and then turn on the disk shelves. You then check the quick
reference card that came with the disk shelf for information about LED responses. 

B. You re-download the boot image to the compact flash card, then reboot the system. 

C. You look for a description of the problem on the LCD and console. You then follow the instructions, if provided, on the
LCD and console. 

D. You verify disk shelf compatibility and check the disk shelf IDs to verify that the disk shelf 1 (for DS14 series) must be
connected to your system. 

Correct Answer: C 

 

 

QUESTION 15

What are two functions of iSCSI access lists? (Choose two.) 

A. control the network interfaces on the storage system that an initiator can access 

B. define authentication parameters(CHAP) 

C. limit the number of network interfaces advertised by the storage system 

D. define MPIO behavior 

Correct Answer: AC 
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